

①

1) Πητοποίηση:

$$\frac{b}{\sqrt[n]{a^k}} \cdot \frac{\sqrt[n]{a^{v-k}}}{\sqrt[n]{a^{v-k}}}$$

$$\frac{b}{(\sqrt[n]{a} \pm \gamma)} \cdot \frac{(\sqrt[n]{a} \mp \gamma)}{(\sqrt[n]{a} \mp \gamma)}$$

α) $\frac{7}{\sqrt{5}}$, β) $\frac{10}{\sqrt[3]{5}}$, γ) $\frac{2}{\sqrt[5]{2^4}}$, δ) $\frac{6}{\sqrt[4]{3^3}}$

ε) $\frac{8}{\sqrt{2}+1}$, ζ) $\frac{5}{\sqrt{5}-2}$, η) $\frac{7}{\sqrt{7}-\sqrt{3}}$, θ) $\frac{1}{3+\sqrt{2}}$

ι) $\frac{1}{\sqrt[10]{2^6}}$, κ) $\frac{4}{\sqrt[8]{7^5}}$, λ) $\frac{\sqrt{2}+1}{\sqrt{3}-1}$, μ) $\frac{3+\sqrt{5}}{2+\sqrt{5}}$

2) Πητός εκθάρτη $\sqrt[n]{a^k} = a^{\frac{k}{n}}$, $a \geq 0$

α) $\sqrt[3]{\sqrt{3}}$, β) $\sqrt[3]{2} \cdot \sqrt[4]{2}$, γ) $\sqrt{3} + \sqrt{12}$

δ) $x^{\frac{1}{2}} \cdot x^{\frac{2}{3}} = \frac{\sqrt{x^3} \cdot \sqrt[3]{x^2}}{x}$, $x > 0$

(2)

Lösungen:

$$1a) \frac{7}{\sqrt{5}}, \left. \begin{array}{l} v=2, k=1 \\ v-k=1 \end{array} \right\} \Rightarrow \frac{7}{\sqrt{5}} \cdot \frac{\sqrt[2]{5'}}{\sqrt[2]{5'}} = \frac{7\sqrt{5}}{5}$$

$$b) \frac{10}{\sqrt[3]{5}}, \left. \begin{array}{l} v=3, k=1 \\ v-k=2 \end{array} \right\} \Rightarrow \frac{10}{\sqrt[3]{5}} \cdot \frac{\sqrt[3]{5^2'}}{\sqrt[3]{5^2'}} = \frac{10\sqrt[3]{5^2'}}{5} = 2\sqrt[3]{5^2'}$$

$$c) \frac{2}{\sqrt[5]{2^4}}, \left. \begin{array}{l} v=5, k=4 \\ v-k=1 \end{array} \right\} \Rightarrow \frac{2}{\sqrt[5]{2^4}} \cdot \frac{\sqrt[5]{2^1'}}{\sqrt[5]{2^1'}} = \frac{2\sqrt[5]{2^1'}}{2} = \sqrt[5]{2'}$$

$$d) \frac{6}{\sqrt[4]{3^3}}, \left. \begin{array}{l} v=4, k=3 \\ v-k=1 \end{array} \right\} \Rightarrow \frac{6}{\sqrt[4]{3^3}} \cdot \frac{\sqrt[4]{3^1'}}{\sqrt[4]{3^1'}} = \frac{6\sqrt[4]{3^1'}}{3} = 2\sqrt[4]{3'}$$

$$e) \frac{8}{(\sqrt{2}+1)} \cdot \frac{(\sqrt{2}-1)}{(\sqrt{2}-1)} = \frac{8(\sqrt{2}-1)}{(\sqrt{2})^2-1^2} = \frac{8(\sqrt{2}-1)}{2-1} = 8(\sqrt{2}-1)$$

$$f) \frac{5}{(\sqrt{5}-2)} \cdot \frac{(\sqrt{5}+2)}{(\sqrt{5}+2)} = \frac{5(\sqrt{5}+2)}{5-4} = 5(\sqrt{5}+2)$$

$$g) \frac{7}{(\sqrt{7}-\sqrt{3})} \cdot \frac{(\sqrt{7}+\sqrt{3})}{(\sqrt{7}+\sqrt{3})} = \frac{7(\sqrt{7}+\sqrt{3})}{7-3} = \frac{7(\sqrt{7}+\sqrt{3})}{4}$$

$$h) \frac{1}{(3+\sqrt{2})} \cdot \frac{(3-\sqrt{2})}{(3-\sqrt{2})} = \frac{3-\sqrt{2}}{3-2} = 3-\sqrt{2}$$

$$i) \frac{1}{\sqrt[5]{2^6}} = \frac{1}{\sqrt[5]{2^3}}, \left. \begin{array}{l} v=5, k=3 \\ v-k=2 \end{array} \right\} \Rightarrow \frac{1}{\sqrt[5]{2^3}} \cdot \frac{\sqrt[5]{2^2'}}{\sqrt[5]{2^2'}} = \frac{\sqrt[5]{2^2'}}{2}$$

$$k) \frac{4}{\sqrt[8]{7^5}}, \left. \begin{array}{l} v=8, k=5 \\ v-k=3 \end{array} \right\} \Rightarrow \frac{4}{\sqrt[8]{7^5}} \cdot \frac{\sqrt[8]{7^3'}}{\sqrt[8]{7^3'}} = \frac{4\sqrt[8]{7^3'}}{7}$$

(3)

$$2) \frac{(\sqrt{2}+1)}{(\sqrt{3}-1)} \cdot \frac{(\sqrt{3}+1)}{(\sqrt{3}+1)} = \frac{(\sqrt{2}+1)(\sqrt{3}+1)}{3-1} = \frac{\sqrt{6} + \sqrt{3} + \sqrt{2} + 1}{2} =$$

$$4) \frac{(3+\sqrt{5})}{(2+\sqrt{5})} \cdot \frac{(2-\sqrt{5})}{(2-\sqrt{5})} = \frac{(3+\sqrt{5})(2-\sqrt{5})}{4-5} = -(6-3\sqrt{5}+2\sqrt{5}-5) \\ = -(1-\sqrt{5}) = \underline{\underline{\sqrt{5}-1}}$$

$$24) \sqrt[3]{\sqrt{3}} = \sqrt[3]{3^{\frac{1}{2}}} = (3^{\frac{1}{2}})^{\frac{1}{3}} = 3^{\frac{1}{2} \cdot \frac{1}{3}} = 3^{\frac{1}{6}} = \sqrt[6]{3}$$

$$6) \sqrt[3]{2} \cdot \sqrt[4]{2} = 2^{\frac{1}{3}} \cdot 2^{\frac{1}{4}} = 2^{\frac{1}{2} + \frac{1}{3}} = 2^{\frac{5}{6}} = \sqrt[6]{2^5}$$

$$8) \sqrt{3} + \sqrt{12} = 3^{\frac{1}{2}} + 12^{\frac{1}{2}} = 3^{\frac{1}{2}} + (3 \cdot 4)^{\frac{1}{2}} = 3^{\frac{1}{2}} + 3^{\frac{1}{2}} \cdot 4^{\frac{1}{2}} \\ = 3^{\frac{1}{2}}(1+\sqrt{4}) = \sqrt{3}(1+2) = \underline{\underline{3\sqrt{3}}}$$

$$8) x^{\frac{1}{2}} \cdot x^{\frac{2}{3}} - \sqrt{x^3} \cdot \sqrt[3]{x^2} = x^{\frac{1}{2}} \cdot x^{\frac{2}{3}} - \frac{x^{\frac{3}{2}} \cdot x^{\frac{2}{3}}}{x^1} \\ = x^{\frac{1}{2} + \frac{2}{3}} - x^{\frac{3}{2} + \frac{2}{3} - 1} = x^{\frac{7}{6}} - x^{\frac{9+4-6}{6}} = \cancel{x^{\frac{7}{6}}} - \cancel{x^{\frac{7}{6}}} = \underline{\underline{0}}$$